


Your Turn: Textbook Problem Review, Student Responses, & Sequencing
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How many trees will each helper plant?
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Lucas is in charge of planting trees at the park.

He gives 32 trees to a team of 4 helpers.
Possible Studew Rmesmene. 2. <1 e Each helper plants an equal number of trees.

How many trees will each helper plant? !
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At the school store, Isabella buys 4
notebooks. Each notebook contains 51
sheets of paper. How many pieces of paper
did Isabella buy?
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Modifications ekt de———— Gabriel has
room for 6 passengers in his van. He needs to
take 38 people to the game. How many trips does Gabriel
need to make in order to drive everyone to the
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Zoey bought a football
and a t-shirt at the store. She paid $15.35 for
the football. She paid a total of $24.02 for the
football and the t-shirt. How much did Zoey
pay for the t-shirt?
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